N = 0l & AF & F Al A
2008HE = 2 3l Lzl
SN AYHE Y
I otNAE AUSAIT(ZTENLOT/ YL - 2L
Sl ASHSHH JIBHxA CREE))
SN-EHH S (3H) - HEAY - BES Ofl &+ o4 Bk Hnz2
IR 57,814,290 57,478,842 335,448
= 345,616 345,616 0
= 57,468,674 57,133,226 335,448
;&@%% AEADE(STEMN LT /TS - 21 7,697,652 7,379,696 317,956
= 285,436 285,436 0
= 7,412,216 7,094,260 317,956
ASUSHA JIBES 2,130,220 1,780,220 350,000
= 285,436 285,436 0
= 1,844,784 1,494,784 350,000
HTAYHS (1S53 HY 1,220, 143 870, 143 350,000
201 st2 | 603,343 253,343 350,000
02 ZZ=IH] 578,943 228,943 350,000
OLY HEBSAUY ABHSEE2(LBN) 250,000 0 250,000
OLYXY FBSHP DY (LTA) 44,000 0 44,000
OXYHAN HHHE REZ(AYA) 56,000 0 56,000
AYDEEY W5 549,932 581,976 £32,044
A% IR 2D £ 444,852 476,896 £32,044
202 oft 298,852 330,896 A32,044
01 =LHoit] 234,852 266,896 £32,044
0AYBLY I2HR2DS 230,202 262,246 £32,044
HZS YA (2 YHII)(JIEHIIEH 50,113,318 50,095,826 17,492
= 60, 180 60, 180 0
= 50,063, 133 50,085,646 17,492
ol 2y 50,070,230 50,062,733 17,492
= 60, 180 60, 180 0
= 50,010,050 49,992,558 17,492
T2 2AY X 50,010,050 49,992,558 17,492
101 Q12| 49,654,330 49,636,838 17,492
01 JI=a3 34,827,595 34,882,505 55,000
023 34,089,177 34, 144,177 A55,000
OAgx 30,947,581 31,002,581 55,000
LR 4,773,193 4,828,193 55,000
2 g 631,690 507,400 124,290
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A eI
XSS A (L LI (IIEHIIEH
o121 2 bl

SNBSS - MBAY - BES arey pJE-1 {imE=Eh

O=U2R=H 230,370 157,400 72,970
OAI 22 128,092 87,377 40,715
Ooft2R=4g 86,195 59,052 27,143
Oxga2f=¢ 16,083 10,971 5,112
ONE=H 7,490 0 7,490
O3St & 3t == 38,480 0 38,480
ORE=¢ 5,350 0 5,350
05 HESOHI 3,185,702 3,219,933 A34,231
O"EFJtdl 85,443 119,674 A 34,231
06 JHAHIXIZHI 5,359,721 5,377,288 A17,567
O A X& 182,289 199,856 A17,567
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